OPERATOR'S & ASSEMBLY MANUAL

V141

© LAl GAMES

To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200



http://www.laigames.com/
David
Text Box


Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

TABLE OF CONTENTS

SAFETY PRECAUTIONS.....cccceeseuiesusennsenssssssnsssssssssasssssssssasssssossssassssssnssassassnsssass 1
MACHINE INSTALLATION AND INSPECTION ....cccoiiiiiniiiienienieeceesieeie e 2
INTRODUCTION. ...cceccesuseureeusssussnsssassssssansssssssssnsssassssssasssssssssnsssasssssssssssssssssnsssasssssass 3
SPECIFICATIONS ...ttt ettt ettt et b et st b et e b enee 4
SLAM,,N“JAM JUNIOR ASSEMBLY QUICK GUIDE .......cccoeeeuiiiiiieeeeeeecciiirreeeeeeee e 5
Do’s and Don’ts for Assembling Slam ‘N’Jam JUnior ...............cccccccocvvcveecvenennnn. 5
SLAM,,N“JAM JUNIOR ASSEMBLY INSTRUCTIONS ... 6
TOOLS REQUIRED FOR ASSEMBLY ..ottt 7
HARDWARE LISTS IN CASH BOX....cccocieeuteeeeanesssssnsssnssassnsssnssssssnssssssassssssssssssans 7
STEP ONE: Attaching Rear Cabinet Legs and middle brace............................... 8
STEP TWO: Attaching Front and Rear Cabinets. ................ccccccoovvveviianciennancene. 9
STEP THREE: Fitting Cabinet Edge Cover Plates ..............ccccocoveveivevieeancnnn. 9
STEP FOUR: Ball Gate and Backboard Cabling.................cccccccevvcuvivicunennnnnnns 10
STEP FIVE: Attaching the Left & Right Side Mesh. .............cc.ccoovveevivveannnne. 10
STEP SIX: Attaching Front Barrier Mesh. ...............ccccoccoociiviiniiiniiniiniiiiacn 11
STEP EIGHT: Attaching the Backboard. .................ccccccoocevviniianiinoiniiinincnnn 12
STEP NINE: Attaching Top Spotlight Panel. .................cccccooeniiviinoiniiiinncnnn 12
STEP TEN: Fitting Top Header...................ccccococuueiiieaiiiieaiieeeie e esie e 13
HOW TO PLAY ..uciiiiiiuienniisiiiiesssesessnssasssssssnssssossssssssssssssssnssssssssssssssssssssssssssssssssssass 14
OPERATION ..cococcesceeansssssssssnsosssssssasossssssssnssssssassssssssssssssasssssssssssssssssssssasssssssssssssssses 15
OPERATIONAL DIAGRAM ..ot 15
ATTRACT MODE ...........ooooieieeeeee et 15
PLAY MODE.........c.ooiiiiiiiiieeeee ettt 15
TEST MODE ..ottt sttt ettt st st 16
TEST MODE DIAGRAM .........cooeieiiiieeieeeeeee e 16
GAME SWITCHES TEST......cccccoceeieeusisessuissusisessarssasssssssnsssssnsssassssssssssssssssassassssssas 16
RUN TEST MODE .........ccoo0eeueeunisuncnnens ... 16
SOUND, LAMPS & DISPLAY TEST .....ccoooiiieieeeeeeeeeee e 17
SWITCH TEST ..ottt 17
RUN TEST ...ttt 19
PROGRAMMABLE ADJUSTMENTS MODE ......ccccooiiiiiiiiinieienieneeeeeeiee 20
PROGRAMMABLE ADJUSTMENTS MODE DIAGRAM.............cccoocveeeaannne. 20
PROGRAMMABLE ADJUSTMENTS PROCEDURE .........ccccooovvieiiaiacnen. 20

PROGRAMMABLE ADJUSTMENTS QUICK REFERENCE TABLE (V 1.4.1).21

i
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200



file:///D:\Product%20Support%20Documents\Machines\SlamNJam%20Jnr%20(SNJ-Jnr)\Manual\SNJ%20jnr%20Manual_Operator_and_Assembly_ISO_R1.doc%23_Toc263256251
file:///D:\Product%20Support%20Documents\Machines\SlamNJam%20Jnr%20(SNJ-Jnr)\Manual\SNJ%20jnr%20Manual_Operator_and_Assembly_ISO_R1.doc%23_Toc263256252

Operator's Manual — Slam'N'Jam Junior

© LAl GAMES
PROGRAMMABLE ADJUSTMENTS DETAILED ...............cccccovuveviiiiaicnnene. 21
AUDITS MODE ...ttt e s s 23
AUDITS MODE DIAGRAM .......cocoviiiiiiiiiiiiiiiiiiiiteceeeteee e 23
AUDIT PROCEDURE ........cccocooiiiiiiiiiiiiiiiieiieeeeet e 24
AUDITS QUICK REFERENCE TABLE ..........ccocovuiiiiiiiiiiiiiiiieiceceeecee 25
AUDITS DETAILED.........c..ocoouiiiiiiiiiiiiieiteee et 25
ERRORS AND TROUBLESHOOTING .......ccooiiiiiiiiiniieiececeeeeceeeeeee e 26
ERROR CODE QUICK REFERENCE TABLE ..........ccccovviiiiiiiiiiinieie 26
TROUBLESHOOTING GAME ERRORS ......cccccoviiiiiiiiiiiiiiiiiieeccec e, 27
FUSE INFORMATION ..ottt 28
FUSE LOCATION DIAGRAM..........couoviiiiiiiiiiiiiiieteeee e, 28
SECTION A: SERVICE INSTRUCTIONS 29
LOCATING AND ACCESSING PARTS ..ot 30
PARTS LOCATION DIAGRAM ........ccooooviiiiiiaiiiiiiieiieeee e, 30
PARTS DESCRIPTION........c...ccoiuiiiiiiiiiiiiiiiiiieteeeet e 31
LAMPS ettt e st 33
MAINTENANCE ......ooiiiiiiitect et 34
SECTION B: TECHNICAL DETAILS .35
MAINS VOLTAGE ADJUSTMENT ...c.ooiiiiiiiiiiiiiicceeeeeeeceeee e 36
TICKET DISPENSER REFERENCE GUIDE .......cccccoiiiiiiiiniiiiiiicciieeceieceeee 37
3D EXPLODE PARTS ..ottt 42
SLAM'N'JAM JUNIOR MAIN WIRING DIAGRAM ......cccoeeviiiiiiiiiiciceeee 44
i

To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200



Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

SAFETY PRECAUTIONS

The following safety precautions and advisories are used throughout this manual and
are defined as follows.

r

* WARNING! *
Disregarding this text could result in serious injury.

* CAUTION! *
Disregarding this text could result in damage to the machine.

* NOTE! *
B An advisory text to hint or help understanding.

A BE SURE TO READ THE FOLLOWING A

* WARNING! *
Always turn OFF Mains AC power and unplugged the game, before
opening or replacing any parts.

Always when unplugging the game from an electrical outlet, grasp the
plug, not the line cord.

Always connect the Game Cabinet to grounded electrical outlet with a
securely connected ground line.

Do Not install the Game Cabinet outdoors or in areas of high humidity,
direct water contact, dust, high heat or extreme cold.

Do _Not install the Game Cabinet in areas that would present an
obstacle in case of an emergency, ie. near fire equipment or emergency
exits.

~

N ([

o

* CAUTION! *
Always use a Digital Multimeter, logic tester or oscilloscope for testing
integrated circuit (IC) logic PC boards. The use of a continuity tester is
not permitted.

Do Not Connect or disconnect any of the integrated circuit (IC) logic PC
boards while the power is ON.

Do Not use any fuse that does not meet the specified rating.

Do _Not Subject the game cabinet to extreme temperature variations.
Reliability of electrical components deteriorates rapidly over 60 °C.

/
N

J

Page 1

To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200




Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

MACHINE INSTALLATION and INSPECTION

When installing and inspecting “Slam'N'Jam Junior”, be very careful of the following
points and pay attention to ensure that the players can enjoy the game safely.

B Be sure to turn the power OFF before working on the machine.

* WARNING! *
Always Turn OFF mains power before removing safety covers and refit all safety
covers when work is completed.

B Make sure the power cord is not exposed on the surface (floor, ground, etc.) where
people walk through.

B Check that the rubber glide feet levelers are set evenly on the floor so that the game
cabinet is unable to roll and is stable.

B Always make complete connections for the integrated circuit (IC) logic PC Boards
and other connectors. Insufficient insertion can damage the electrical components.

4 )
* CAUTION! *

Before switching the machine on be sure to check that it has been set on the
correct voltage for your area!

Refer to the mains voltage adjustment section of this manual. Machines are

normally shipped on 220V AC unless otherwise specified.
. J

B Only qualified personnel should inspect or test the integrated circuit (IC) logic PC
Boards.

B Ifany integrated circuit (IC) logic PC Boards should need servicing. Please contact
the nearest LAI GAMES distributor. (Refer to the back page of this manual)

* NOTE! *
B Slam and Jam Jnr is normally shipped as a kit, and is not fully assembled.
For assembly instructions please refer to the assembly manual

Page 2
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200




Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

INTRODUCTION

CONGRATULATIONS! You have just bought the “Slam'N'Jam Junior”, another
sensational product from LAI games. This game is based around out popular “Slam and
Jam” basket ball game and redesign to be a children friendly basketball game. With
bright, friendly graphics, easier hoop position and a maximum tickets feature to reduce
cheating, we are confident it will make a great addition to any center.

We hope you take the time to read this manual and learn about the many other features
and user-friendly adjustments that can be made to “fine-tune” the game for maximum
earning potential.

DESCRIPTION

The “Slam'N'Jam Junior” ” is a one player, ticket redemption basketball game,
requiring the player to shoot basketballs through a hoop and try to score as high as
possible.

PACKAGING

B At delivery, the machine should arrive in good condition. To move the packaged
machine for transport or placement, use a forklift and take care not to hit the package
or stack heavy objects on top, as this may cause damage to the machine.

* NOTE! *
B Slam and Jam Jnr is normally shipped as a kit, and is not fully assembled.
For assembly instructions please refer to the Assembly Manual

CONTENTS

B The “Slam'N'Jam Junior” cabinet front section
B The “Slam'N'Jam Junior” cabinet rear & frame sections
Keys: 2 x coin door keys
2 x service door keys
2 x ticket door key
Operator's manual
Assembly manual
4 size 3 basketballs
IEC Power Cord
Assembly Bolts & Parts

Page 3
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200




Operator's Manual — Slam'N'Jam Junior

© LAl GAMES
SPECIFICATIONS
DIMENSIONS
B Weight: 207 kg (456lb)
B Height: 2483 mm (98"
B Width: 876 mm (34"
B Length: 1858 mm (73"
B Power: Maximum 180 w — (220V @ 0.75A)(120V @ 1.5A)
Average 100 w — (220V @ 0.45A)(120V @ 0.83A)

ELECTRIC SUPPLY
B The game has the option to operate on a 110V, 120V, 220V or 240V AC 50/60Hz

single phase mains electric supply.
The supply must be a three wire grounded supply.

-

\_

* CAUTION! *

Before switching the machine on be sure to check that it has been set on the

correct voltage for your area!

Please Refer to the mains voltage adjustment section of this. Machines are

normally shipped on 220V AC unless otherwise specified.

\

J

LOCATION REQUIREMENTS

Ambient temperature: ~ between 5°C and 40°C.
Ambient humidity: Low

Ambient U.V. radiation: Very low

Vibrations level: Low

2483nm/%8"

2683 mm [ 776"

—~—11%mn / 411"

Lf 686mm / 21" ——l

U ™ i

BY%mm /55" ——————={ Lonm | 1BV
= 1858mm/13" .

I
I

Page 4

I ™=

876 nm/35" ———=

~— 686mm / 27.01" —’l

—~—119%mm / L716"

1973mm /7767

2483nm/%8"

To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200




Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

Slam‘N’Jam Junior ASSEMBLY Quick Guide

Do’s and Don’ts for Assembling Siam ‘N’ Jam Junior

Do read the Slam ‘N’Jam Junior assembly manual as it will help
you in the correct step by step order of assembly

Do take note of what size bolts are used where when assembling Slam,, N“Jam
Junior

Do make sure that all cables are free to move and not pinched or
jammed under the playfield or other parts when assembling
Slam ‘N Jam Junior.

Do make sure that all earth point cables are connected when
assembling both the Front Frames and Front Playfield Speaker
Pods on Slam ‘N’Jam Junior.

Don‘t forget to remove the Slam ‘N’Jam Junior cables from inside
the game cabinet before bolting the front playfield in place.

Don‘t forget after assembling Slam ‘N’Jam Junior to check and
tighten all the bolts.

Don‘t forget to check the voltage setting of Slam ‘N 'Jam Junior is
set to the mains voltage for your country before applying power.

TIPS for Assembling Slam ‘N’Jam Junior

o We recommend using two people when assembling Slam,,N“Jam Junior.
While one person is able to do most of the assembly, using two people will
be much easier. A stepladder will also be very handy during assembly.

o We recommend that assembling Slam, N“Jan Junior is best done on a
level and even surface. Adjust the rubber feet on the frames to align them
for easier assembly.

o We recommend when assembling Slam, N“Jan Junior not tightening all
the bolts until all major parts are fitted. This will allow the easy alignment
of holes as the frame is not held rigid.

* NOTE *
Slam,,N*Jam Junior uses metric size Nuts & Bolts throughout its construction.

Page 5
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200



Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

Slam*‘N’Jam Junior ASSEMBLY INSTRUCTIONS

B The photograph below displays the parts and their names for you to refer to while
assembling the “Slam ‘N’Jam Junior”. This will assist you in locating the parts
more easily.

o | [ | | oo
CARINET CABINET

LEFT, RIGHT & FRONT TOP SPOTLIGHT
MESH PANEL & COVER

BACK HARDWARE PACKS
BOARD SENSOR & CABLES

Page 6
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200



Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

TOOLS REQUIRED FOR ASSEMBLY

¢ 1x 4 mm Allen Key

¢ 1 x 3 mm Allen Key

¢ 1 x 150 mm Adjustable Spanner

¢ 1 x 13 mm Ring and Open end Spanner
¢ 1 x 10 mm Ring and Open end Spanner
¢ 1 x 8 mm Ring and Open end Spanner

One person is able to do most of the assembly, but using two people will be much
easier. A stepladder will also be very handy during assembly.

Unpack the machine and be sure to check that all parts are present. As a quick
reference, refer to the parts displayed on the previous page.

HARDWARE LISTS IN CASH BOX

1. Hardware Pack for Step 1 :
a. Knock Down Bolt M6x60 Black
b. Flat Washer M6 Black
c. Nylon Nut M6
2. Hardware Pack for Step 2 :
a. Knock down Bolt M6x60 Black
b. Flat Washer M6 Black
c. Nylon Nut M6
3. Hardware Pack for Step 3 :
a. Allen Key M6x30 Silver
b. Flat Washer M6 Silver
c. Dome Nut M6
4. Hardware Pack for Step 5:
a. Allen Key Bolt M6x15 Silver
b. Flat washer M6 Silver
5. Hardware Pack for Step 6 ;
a. Allen Key Bolt M6x15 Silver
b. Flat Washer M6 Silver
6. Hardware Pack for Step 7 :
a. Hex type Bolt M8x45
b. Flat Washer M8
c. Spring Washer M8
d. Flange nut M8
7. Hardware Pack for Step 8 :
a. Allen Key M6x40 Silver
b. Flat Washer M6 Silver
c. Flange Nut M6
d. Knock Down M6x60 Black
e. Spring Washer M6
8. Hardware Pack for Step 9 :
a. Allen Key Bolt M6x40 Silver
b. Flat Washer M6 Silver
c. Dome Nut M6
d. Spring Washer M6
9. Hardware Pack for Step 10 :
a. Allen Key Bolt M5x20 Silver
b. Flat Washer M5 Silver
c. Nylon nut M5
d. Spring Washer M5

Page 7
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200




Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

STEP ONE: Attaching Rear Cabinet Legs and middle brace.

1] m|lT|:

B Attach to the back of the Rear Cabinet the “H” Shaped Rear Feet Frame
B Put the middle brace bar in the middle of “H” shape and fasten it.

B Firmly bolt the Rear Feet frame onto the Rear Cabinet using the *four Black M6
x 60mm Knockdown bolts, flat washers and four M6 Nylon nuts
supplied.(hardware found in cash box)

Page 8
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200



Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

STEP TWO: Attaching Front and Rear Cabinets.

* NOTE: This job is easiest using two people. One on each side to move the Rear
Cabinet into place.

B Place the L shape bracket to Front
Cabinet matching all the holes
with plate facing up

Position the rear playfield onto
front cabinet and mount the rear
playfield ball gate area onto L
bracket installed and fasten

Bolt the two Cabinets together
from underneath using the Seven
Black M6 x 60mm Knock down
bolts, washers, supplied.
(hardware found in Cash box)

The Black M6 x 60mm
Knockdown bolt, washer, Three
Nylon Lock nut is inserted from
the topside inside the center of ball
path (hardware found in cash box)

Place the middle metal brace onto
the H shape across the front
cabinet underneath the playfield

STEP THREE: Fitting Cabinet Edge Cover Plates

B Attach the two halves of the Cabinet Edge Cover Plates to the machine using the
*four M6 x 30mm Allen key bolts, washers, and dome nuts supplied.
(hardware found in cash box)

* NOTE: Place the “L” shaped bracket to the Outside Edge of the Cabinet to
present a smooth edge.

Page 9
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200



Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

STEP FOUR: Ball Gate and Backboard Cabling.

B From the Rear Cabinet are two cables, one six way Molex plug for the Ball Gate
and one twelve way Molex plug for the Timing and 3-point Lights. Plug these into
the two corresponding Molex socket connectors from the Front Cabinet.

B Plug the fifteen way Molex plug running
way Molex from the Front Cabinet. The
back of the Front Cabinet to protect them

* NOTE *
Always match the connectors’ header
with the same size male or female to
avoid wrong insertion

B Position the Left & Right Side Mesh with the holes in the Rear Cabinet and
tighten firmly use the * four Silver M6 x 30mm Allen key bolts, Washers and
Dome Nuts provided. (hardware found in cash box).

Page 10
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200



Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

STEP SIX: Attaching Front Barrier Mesh.

B Fit the Front Barrier Mesh
between the two side mesh and
bolt in place using the *four
Silver M6 x 15mm Allen key
bolt, and Flat Washers
(hardware found in cash box)

B Before mounting the Backboard to

the Cabinet. Fit the Hoop into place
on the backboard and bolt in place
using the *four M8 x 45mm Hex
Head bolts, spring and flat
washers supplied. (hardware found
in cash box)

Next fit the Infra Red Ball Sensor
into the middle of the Hoop and
tighten into place

Place the sensor protection bracket
over the back of the ball sensor and
tighten into place using the *four
M8 Hex nuts, spring and flat
washers supplied.(Hardware found
in cash box)

* NOTE: The Ball Sensor has two
plastic nuts. Adjust these so that the
sensor has just enough thread to
tighten the front nut into place .

To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200



Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

STEP EIGHT: Attaching the Backboard.

[ * NOTE: It is faster with two people for this part of the assembly.

B Resting the bottom of the
Backboard on the Back Feet
Bracket. Lift the Backboard into
position.

B Take care to make sure the cables
on the Right Hand side or the rope
light are not pinched

B Bolt the backboard to the side mesh
using the * Four Allen Key bolt
M6 x 40mm bolts, spring washer
and washers supplied. (Hardware
found in cash box)

B Bolt the Backboard to the Rear
Cabinet using the * Two Knock
down M6 x 60mm bolts washers
and flange nuts supplied.
(hardware found in cash box)

B Connect together the 15-way Molex plug and socket at the bottom of the
Backboard as well as the 4-way Molex connector for the Ball Sensor.

STEP NINE: Attaching Top Spotlight Panel.

B Fit the Top Spotlight Panel
between the two side mesh and
bolt in place using the *four
Silver Allen key M6 x 40mm
bolt, Spring, Flat Washers and
Dome nuts. (hardware found in
cash box)

B Next bolt the backboard to Top Spotlight Panel using the * two Allen key M6 x
40 mm bolts, spring and washers supplied.(Hardware found in cash box)

Page 12
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200



Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

STEP TEN: Fitting Top Header.

B Position the header with the back on top and place the triangle plate on each side
of the header and use the 4 silver Allen Key M5 x 20 bolt, Flat Washer and
Spring washer fasten all the bolts.(Hardware found in cash box)

B Take the top header and place it on top of the spotlight panel and match the 4
holes each side 2 holes use the 4 silver Allen key M5 x 20 bolt, Flat washer and
Nylon Lock nut. (hardware found in cash box)

B Connects the 6 ways molex to the other end at the cabinet.

* NOTE: The Green / Yellow EARTH cable is attached to one of the
Spotlight longer mounting screws using the extra nut provided.

ASSEMBLY IS NOW COMPLETED.

NOTE!
BE SURE TO CHECK AND TIGHTEN ALL ASSEMBLY BOLTS!

Page 13
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200



Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

HOW TO PLAY

THE PLAYER’S AIM IS TO SHOOT THE BALLS
THROUGH THE HOOP AS MANY TIMES AS POSSIBLE
DURING THE TIME LIMIT

B [nsert coin/s.

B Press the Start button to start the game. The ball gate will open releasing the basket
balls.

B The player then throws the balls, trying to get them to go through the hoop. For
each ball through the hoop the player gets 2 points, except during the last 10
seconds of game play, when the player gets 3 points per ,pasket™.

B After the end of the game, tickets are paid out according to the player's score and
the program settings

Page 14
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200




Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

OPERATION

The “Slam'N'Jam Junior” game has five operational modes: Attract mode, Play mode,
Test mode, Programmable Adjustments Mode and Audits Mode.

OPERATIONAL DIAGRAM
POWER UP

|

-

ATTRACT MODE |_> PLAY MODE l

PRESS TEST * NOTE! *

Entering test mode will
TEST MODE I clear any stored credits
I

PRESS TEST
PROGRAMMABLE ADJUSTMENTS MODE I

[
PRESS TEST

v
AUDITS MODE |

|
PRESS TEST

ATTRACT MODE

B The Attract mode provides a light and sound display, while the game is not being
played. This feature is to attract potential customers to play the game. The attract
mode sound can be turned on and off

PLAY MODE

B The Slam'N'Jam Junior has two play modes. The Standard Coin Play mode, where
a coin, or coins are inserted. Or Free Play where no coins are necessary.

COIN PLAY

B The Coin Play mode is entered from Attract mode, by inserting coins in any of the
two coin slots on the front of the machine cabinet, then following the instructions
in the “How to Play” section of this manual.

FREE PLAY
B The free play mode is entered from attract mode by holding the Service button for
longer than five second, will be displayed on the 3-digit LED display.

B To get back to normal game Play mode Switch Off and On the Machine.

Page 15
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200




Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

TEST MODE

The Slam'N'Jam Junior Test mode has Three Test Configurations allowing you to
explore the functioning of the Sound, Light & Display, the Game Switches and to
allow an operational test of the Ball Gate. (Refer to the Test Mode Diagram below).

The Test mode is also used for Clearing Game Errors. If there is an active error, its
code will be displayed. To try to clear the error code, press the red test button once.
The error can be bypass by quickly pressing the red test button twice.

* NOTE! *
B Entering Test Mode will CLEAR any CREDITS remaining in the game.

B If during test mode no ADJUSTMENTS or actions are made to the game for
approximately four minutes, it will automatically RETURN to Attract Mode.

TEST MODE DIAGRAM

[ ATTRACT MODE I . {  PLAY MODE I
PRESS TEST

y

SOUND, LAMPS & DISPLAY TES

olon
oo

A

The Display counts,
all Lamps are flashing
and Sound is played

PRESS TEST
v
SWITCH INPUT TEST No INPUT is active
l it |
TICKET notch SERVICE switch Ball gate switch is Ball sensor
is active is active active is active
[cllo][1]| |[c]lo][2]] -To--. [[c][o][e] ] [o][8]
|
PRESS TEST
v
RUN TEST Ball Gate Opening Ball Gate Closing

FEE] i [ O] -BRESS.. [[][1[0]

SERVICE
Ball Gate Open all Gate Closed

BALL GATE RUN TEST ] foops back [ ]

B Press Service button to activate

=

B LED displays run test function Gate Opening Error Gate Closing Error
B Er# indicates Ball Gate problem E E
|
PRESS TEST

y

| PROGRAMMABLE ADJUSTMENTS MODE I

Page 16
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200




Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

SOUND, LAMPS & DISPLAY TEST

s ENTER The Sound, Lamp & Display test is entered from Attract mode by
pressing the test button once.

* NOTE! *
B If there is an active error displayed, press the red test button once to try and
clear the error.
B If the error code will not clear, it can be bypass by quickly pressing the red
test button twice.

DURING THE TEST:

o Game music and a voice over will be played.

o The 3-digit display will count from 000 to 999 and then repeat.
o The light rope will run a test pattern sequence.

o The Start button lamp will flash on and off

m EXIT The Sound, Lamp & Display test is exited by pressing the test button.
The next test will be switch test.

SWITCH TEST

B ENTER The Switch Test can be entered by pressing the Test button once while
in the Sound, Light & display test or by pressing the Test button twice
while in Attract mode, will be displayed on the 3-digit display
where ,,.XX"is a number representing the switch that is active.

B TESTING THE GAME SWITCHES
All game switches have a code from C1 to C8 as tabled below. By
activating any of the switches, their code will be displayed on the 3-
digit display. If no switches are active then [€I[9][0] will be displayed.

CODE | DISPLAY | SWITCH FUNCTION SWITCH LOCATION
CO0 [€][0][0] No Switch Active -
Cl €Ol Service Switch Active Service Panel
C2 [Clol=] Coin Switch Active Coin Door
C3 [Cl0]3E] Ticket Notch Ticket Door
C4 [Cl[0]@] Start Button Active Control Panel
C5 [Cl[O][5E] Not Used -
Co6 [Cl[o]e] Ball Gate Switch Active Ball Gate Mechanism
C7 [CIO][7] Not Used -
C8 [Clo]E] Ball Sensor Active Cabinet Back

Normal condition for the game is [EI[OIE] & [CIOI[E], Ticket Notch and Ball Gate
switches are active.

* NOTE! *
B Several switches can be simultaneously activated in Switch test. The display
will then consecutively show their codes, indicating which switches are
active. However, it is much easier to test the game switches individually..

Page 17
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200



Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

B TICKET DISPENSER NOTCH

The Ticket Notch Switch (C1) can be activated or deactivated from the
Ticket Feed Button on the Ticket Dispenser PCB or by manually

pushing the tickets from the ticket holder through the dispenser after
pulling the ticket release rod upwards

Ticket Tensioning ——»
mechanism

Ticket release rod

* NOTE! *
B For more information on the servicing and testing the
ticket dispenser please look at the Dispenser Reference guide.

B EXIT The Switch Test is exited into Run Test Mode by pressing the Test
Button once.

Page 18
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200



RUN TEST

B ENTER The Run Test can be entered by pressing the Test button once while in
the Switch Test or by pressing the Test button three times while in

Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

Attract mode, will be displayed on the 3-digit display.

B SELECT Operation of the Ball Gate Motor and Switch can be tested. To start the
test, press the Service button. The Service button is then pressed again

to alternately open and close the gate.

Refer to the following table for the status of the Ball Gate Run Test:

CODE | DISPLAY SWITCH FUNCTION
R-0 [r1J[o] Ball Gate is Closing
R-1 MO Ball Gate is Opening
R-2 = Ball Gate is Closed
R-3 CE] Ball Gate is Open
ErS Ball Gate Error

B EXIT The Run Test is exited into Programmable Adjustments Mode by
pressing the Test Button once.

To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200




Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

PROGRAMMABLE ADJUSTMENTS MODE

The Slam'N'Jam Junior has seven programmable adjustments that can be changed in
this mode. They are PO4 to P11 and their codes and values are displayed alternatively
during the adjustment procedure.

Example: Code P01 (Number of Coins Mech 1) is displayed as [PJO[4] and its value
of 1 as LILI[2] on the 3-digit display.

PROGRAMMABLE ADJUSTMENTS MODE DIAGRAM

RUN TEST MODEI

|
PRESS TEST

y

PROGRAMMABLE ADJUSTMENTS MODE

I -t [ > [

! + REPEATEDLY v
To step fr

— PRESS START +—— |[ ][] POI P11 []

to change value Loops back to P04
L > 1,2,3,4...10

I
PRESS TEST

y

AUDIT MODE l

PROGRAMMABLE ADJUSTMENTS PROCEDURE

B ENTER The Programmable Adjustments Mode can be entered by pressing the
Test button once while in the Run Test or by pressing the Test button
four times while in Attract mode, [PIPIP] will be displayed on the 3-
digit credit display.

B SELECT The green Service button is pressed to step through each of the
adjustment configurations, starting from the [PI(PI[P] display, PO4 being
the first step, continuing through to P11, and then looping again from
P04 to P11 until the mode is exited.

B CHANGE The Start button is pressed to change the displayed value. The value
can only be stepped up by using the Start button, but the value will
loop back to its minimum value the next step after its max value.

* NOTE! *
B Certain program adjustments have a fast adjustment feature. By holding the
Start/Stop button down, the values step through quicker.

H EXIT The Programmable Adjustments mode is exited into Audits mode, by
pressing the Test button once.

Page 20
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200




Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

PROGRAMMABLE ADJUSTMENTS QUICK
REFERENCE TABLE (V 14.1)

PROGRAMMABLE OPTIONAL DEFAULT
CODE ADJUSTMENTS VALUES SETTINGS FEATURES
P04 1-10 1,2,3...10 01 Game Pricing No. Coins
P05 1-10 1,2,3...10 01 Game Pricing No. Credits
P06 1-100 1,2,3...100 03 Ticket Payout Points / Ticket
po7 | 4 —9dUsecs 45, 50...90 45 Game Time Adjustment
in 5 sec steps
P09 SEF[ 1[] o] I (on), 0 (off) ON Attract Sound ON / OFF
P10 0-10 0,1,2...10 2 Minimum Tickets
P16 0-10 0,1,2...100 14 Maximum Tickets
P17 OFF-ON OFF, ON ON Ticket Option
P18 0-5 0,1,2...5 0 Ball Gate time out in second

PROGRAMMABLE ADJUSTMENTS DETAILED

B P04 = NUMBER OF COINS PER CREDIT
(Default 01) (Adjustable 1 —10)

This variable sets the number of coins that need to be inserted into coin
mechanism 1, for each credit. It can be set to either of 1, 2, 3... to 10 coins for one
credit.

B P05 =NUMBER of PLAYS PER CREDIT
(Default 01) (Adjustable 1 — 10)

This sets the number of games for each credit inserted into coin mechanism 1. It
can be set to either of 1, 2, 3... to 10 plays for each credit.

B P06 = NUMBER OF POINTS PER TICKETS
(Default 06) (Adjustable 1 — 100)

This is the number of points the player needs to score to win each ticket.

m P07 = GAME TIME
(Default 45) (Adjustable 45 — 90 seconds, in 5 - second steps)

This sets the length of time that each game plays for in seconds. The time does not
include the starting intro and end of game feature. It is only “Game Play” time.

* NOTE! *
B The last 10 seconds of game play is “3 Point Score”
(3 points for each score instead of 2 points).
This is regardless of the game time setting

Page 21
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200




Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

B P09 =ATTRACT MODE SOUND
(Default ON) (Adjustable ON or OFF)

This adjustment turns the attract mode sound ON or OFF. This is the sound and
music that the game generates to attract customers when it is not being played.
The music will cycle approximately every 3 minutes.

E P10 = MINIMUM TICKETS
(Default 0) (Adjustable 0 — 10)

This adjustment turns the Minimum Ticket feature ON [ 01 — 10 J or OFF [ 0 ]. If
it is set ON, it allows you to adjust the number of Minimum Tickets given.
Minimum tickets are awarded to people who would win below the minimum
tickets if calculated by P06 and their finishing score. This feature is good for
rewarding very young children who may not be able to throw the ball well enough
to win tickets. To turn the feature OFF, set it to [ 0 ]. Setting it from 1 — 10 sets the
NUMBER of minimum tickets paid out at the end of the game

m P16 = MAXIMUM TICKETS
(Default 0) (Adjustable 0 — 100)

This adjustment turns the Maximum Ticket feature ON [01 — 100] or OFF [0]. If it
is set to ON it allows you to set the maximum number of tickets a player can win
in one game. This feature is useful to set the game up so that cheating players or
adult/skilled players are limited on their maximum tickets

m P17 =TICKET OPTION
(Default ON) (Adjustable OFF — ON)

This adjustment turns the Ticket Option feature default setting is ON this will
allow the machine to dispense ticket when sets to OFF the machine will not
dispense any ticket regardless of the point achieved.

m P18 = BALL GATE TIME OUT
(Default 0) (Adjustable 0 — 5s)

This adjustment activate the ball gate time out before the game ends default
setting is 0 this will allow the gate to close same time when the game is over,
when set to other number the gate will close x second before the game ends.

Page 22
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200



© LAl GAMES

Operator's Manual — Slam'N'Jam Junior

AUDITS MODE

The Audits Mode allows the operator to view statistics in all areas of the Game Play.
This enables the operator to make calculated adjustments and “Fine Tune” the
machine to maximize earning potential. The Audits mode stores bookkeeping of the
games processed since the last game audits reset. While in this mode, the game audits

can also be reset to zero.

The Slam'N'Jam Junior has three Audits that can be viewed in this mode. They are
AO01, A0S & A06 and their codes and values are displayed alternatively during the

Audit Mode.

Example: Code A01 will be displayed as [AI[OI[Z] and a value of 421 as [4I[2][Z] on the

3-digit display.

AUDITS MODE DIAGRAM

PROGRAMMABLE ADJUSTMENTS MODE I

|
PRESS TEST

v

AUDITS MODE

Press and hold START button
for 5 seconds to reset All Audits

[a] [o][1]

A 4

SERVICE
REPEATEDLY
To step from
A01 to A06

pioiG
(o

Loops back to A01

[
PRESS TEST

y

GAME HISTORY MODE l

To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

Page 23




Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

AUDIT PROCEDURE

B ENTER

B SELECT

The Audits mode is entered from Programmable Adjustments mode by
pressing the Test button once or from Attract mode by pressing the
Test button five times. will be displayed on the 3-digit display.

The green Service button is pressed for advancing each step through
the set of audits configurations, starting from the display, A0O1
being the first step, continuing through to A06, and then looping again
from AO1 to A06 until the mode is exited.

B RESET The entire set of user audits can be reset during any of the audit
configurations, by holding the Start button for longer than 5 seconds.
The displays will be cleared while still holding the button pressed and
will return to the same audit step after releasing the button. The value
of all audits will be reset to “000”.
B EXIT The Audits mode is exited into Game History mode, by pressing the
Test button once.
( * NOTE! * )
B ALL Audits will STOP INCREMENTING when the
“Total Number of Games Played”, audit A-01, reaches 999.
B To restart the audits they must be reset to 000 by holding
The Start button for longer than 5 seconds while in audits mode.
- J

Page 24

To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200



Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

AUDITS QUICK REFERENCE TABLE

CODE | DISPLAY AUDIT FUNCTION
A0l Alom Total Played games
A05 A5 Highest Game Score
A06 [Al[o]E] Number of tickets paid out after last game
AUDITS DETAILED

m A0l =TOTAL GAMES PLAYED

This Audit displays the total number of Games Played since the audits were last
cleared

m A05=HIGHEST GAME SCORE

This audit records the highest end-game score on the machine since the last time
the audits where cleared.

m A06 = NUMBER OF TICKETS WON ON THE LAST GAME

This audit records the number of tickets won at the end of the most recent game.

( * NOTE! * )

B ALL Audits will STOP INCREMENTING when the
“Total Number of Games Played”, audit A-01, reaches 999.

B To restart the audits they must be reset to 000 by holding
The Start button for longer than 5 seconds while in audits mode.

- J

Page 25
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200



Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

ERRORS AND TROUBLESHOOTING

If the microprocessor detects any problems with the operation of the game, an Error
will be displayed on the 3-digit display and the machine will play a voice message.
“Please Call the Attendant”. Some error Messages will only be displayed when test
mode is entered. Errors are displayed on the displays as [EIlFJX], where ,,X" is the
error number. There are four error messages for Slam'N'Jam Junior, listed as follows:

ERROR CODE QUICK REFERENCE TABLE

CODE ERROR DESCRIPTION SOLUTION
sz{lﬁﬁ{iigg%ﬁiiliﬁi?io Clear ticket jam or replenish tickets.
Errl i i After this, push Test button once to
ticket notch pulse for longer than
3 seconds. clear error.
COIN ERROR Clear coin switch jam, possibly
Er2 Coin switch stuck ON for longer customer strimming coin mechs. If fault
than 1 second g is cleared, MCU will automatically
] clear error after 5 seconds.
Er3 Pr];:)l];:liiovxf (I){IE 1(3)0 ljlr d The main MCU is getting errors reading
EEPROM the EEPROM (24C16 IC on MCU).
Err5 probllegg I;VI;H? éaTtE IIE/I}i{(ioO}S{wi tch Test using ball gate run test or test using
Err6 Switch test.

or Ball Gate Motor not operating.

Page 26
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200




Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

TROUBLESHOOTING GAME ERRORS

B CLEARING GAME ERRORS
Game errors can be cleared, by pushing the test button ONCE. The game
will try and check if the error is fixed. If the reason for the error is fixed,
the game will continue as normal. If the error is not fixed, the error will
remain on the display.

B Errl - TICKET ERROR
This error usually occurs if the game has run out of tickets or there is a
ticket jam. A less common reason is if the game PCB tries to dispense
tickets but doesn*t get a notch pulse for approximately three seconds. Use
the Switch Test and test the notch pulse by passing a ticket in and out of
the notch sensor, an active notch will be display as C3.

If the game was out of tickets, replace the tickets, clear the ticket jam and
then push the test button once to clear the error. The game will then payout
any owed tickets.

B Err2 - COIN SWITCH JAMMED
This error is usually displayed if the coin switch is active for longer then 1
second. Use the Switch Test and check the coin switches, an active coin
switch will be display as C2.

B Err3 - EEPROM ERROR

This Error is only displayed in test mode and means that the CPU cannot
read the EEPROM, or is receiving errors during communication with the
EEPROM (The 24C16 IC on the main MCU PCB). This could cause
problems with the game audits and program settings. The first thing to do
is trying to switch ON and OFF the machine in at least 2 cycles, if message
still appear than replace the EEPROM IC Atmel 24C16 on the CPU PCB
with the new EEPROM, If still Error massage, this could be a problems
with the game audits and program. If this error occurs, send your main
MCU PCB to the nearest authorized LAI games dealer for repair.

B Err5 & Err6 - BALL GATE ERROR
These errors will be displayed if the ball gate switch is not activating when
the ball gate opens & closes. Use the Switch Test and check the ball gate
switch, an active ball gate switch will be display as C6.

This can also occur if the ball gate motor is not functioning or the ball gate
mechanism is jammed. Use the Run Test and check the ball gate motor is
activating the ball gate switch.

Page 27
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200



Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

FUSE INFORMATION

* WARNING! *
Always turn OFF Mains power and unplugged the game, before replacing any fuses.

J/

B MAIN AC SUPPLY FUSE (1 x 6 AMP FAST BLOW, M205 TYPE)
This fuse is for the main AC supply and is situated in the IEC mains input socket.

* NOTE! *
B The power cord must be removed before the fuse can be accessed.

B MCU POWER FUSE (1 x 1.5 AMP FAST BLOW, 3AG TYPE)
This fuse is for the power supply to the MCU PCB.

B MCU CONTROL FUSES (1 x 5 AMP FAST BLOW, 3AG TYPE)
These fuses are for the DC transistor drivers on the MCU PCB

B 8-CHANNEL AC CONTROLLER FUSE
(1 x10 AMP SLOW BLOW, 3AG TYPE)
These fuses are for the AC drivers for the 12VAC Lamps

B DOWN LIGHT FUSES (2 x 5 AMP FAST BLOW, 3AG TYPE)
This fuse is for the two 12VAC 20W Down Light Lamps

* CAUTION! *
Do Not use any fuse that does not meet the specified rating.

FUSE LOCATION DIAGRAM

As viewed from front

AC Controller
Fuse
MCU Power 10A SB 3AG
Fuse
1.5A QB M205
Down Light
Fuses
MCU Control 5A QB 3AG
Fuses  —
5A QB M205 .
Main AC Supply
Fuse
6A QB M205
Access from Back

Page 28
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200



Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

SECTION A: SERVICE INSTRUCTIONS

BE SURE TO READ THE FOLLOWING
Carefully before servicing this machine

Page 29
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200




Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

LOCATING AND ACCESSING PARTS

PARTS LOCATION DIAGRAM

As viewed from front

Diachronic LED Score
Down Lamps \ Display
[ s
L~
Playfield Back - 44
Board v Ball
/ Sensor
Ball e
Hoop > = Ball the
/ Mechanism
3-Point & Timer Start
Lights \ = Button
Control Speakers
Panel \ (2 units)
Ball N Coin
Trough g / Mechanisms
Ticket ~— Service
Holder \I Panel
Service - Cash Box
Door " & Housing
Ticket — AC Controller
Door PCB
Ticket / MPU & SOUND Amplifier Transformer &
Mechanism PCBs PCB Power Supply
Page 30

To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200




Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

PARTS DESCRIPTION

COIN MECHANISMS
The coin mechanisms can be accessed inside the Coin door to the right on the
front of the machine cabinet.

CASH BOX

The cash box is located inside the coin door on the front of the machine cabinet.

TICKET DOOR

The ticket mechanism can be accessed inside the ticket door to the Left on the
front of the machine cabinet.

SPEAKERS

Two speakers are located to the front of the cabinet inside the Ball receiving
trough. Access is through the ticket and coin doors.

GAME CONTROLS:
Located in the center of the machine cabinet. The control panel can be Access
through the rear door or via the coin door.

START BUTTON: The Start button is the large RED round illuminated button.
This button is used to start a game and for test and program adjustments.

SERVICE CONTROLS:

Located on the service panel mounted on top of the cash box and accessed trough
the Coin Door.

SERVICE BUTTON: Used to input credits to the game without activating the
coin counter, and to perform test procedures in combination with the test button

TEST BUTTON: Used to perform the test mode, in combination with the
Service button.

VOLUME KNOB: Used to adjust the speaker®s sound level.

COIN

METER 1 <+—— SERVICE
BUTTON
COIN TICKET
METER 2 METER
TEST =——d <+——VOLUME
BUTTON KNOB

| voLuwe §
TICKET METER

Page 31
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200



Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

® POWER CORD

The power cord is a standard IEC power cord (as used on computers) that is
plugged in to the power inlet socket at the rear of the machine. The power cord
can be removed for transport.

POWER INLET

The power inlet is located at the rear of the machine on the Left-hand side as
viewed from the rear. It is a standard IEC inlet socket.

MAINS SWITCH

The mains switch is located on the power inlet assembly along with the mains
fuse, and IEC inlet socket.

FUSES

For locations of all fuses refer to Fuses and Fuse location of this manual.

* WARNING! *

Always turn OFF Mains power and unplugged the game, before replacing any
fuses

Always use the correct rated fuse. Refer to fuse information.

7-SEG DISPLAY
There is a 3-digit display located on the Back-board panel. Access is at the back of
the machine.

BALL SENSOR

There is a IR proximity sensor located on the Back-board panel. Access is at the
back of the machine.

PCB’s
For location of all game PCB®s, refer to the Parts Location diagram of this
manual.

POWER SUPPLY

The power supply is located at the front of the cabinet and is accessed from the
service door. It is a 12V 13 A switching power supply.

TRANSFORMER

The transformer is located at the front of the cabinet and is accessed from the
service door. Itis 2 x 12VAC 15A supply output.

Page 32

To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200



Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

LAMPS

(
* WARNING! *

Always turn OFF Mains power and unplugged the game, before replacing any
lamps.

Always allow time for cooling as Lamps that have been active for a time may still
be too hot to touch.

\

\_

J

COIN DOOR LAMPS

The coin door lamps all are 12V/DC GE194 or equivalent and can be accessed
through the coin door.

BUTTON LAMP
The button lamp is 12V/DC GE194 or equivalent and can be accessed through the
coin door.

ROPE LIGHT
There is one length of Rope Light running around the perimeter of the Back-
Board. The rope light is rated at 12V AC/DC.

TIMER & 3-POINT LAMPS

These groups of lamps are 12V/DC GE906 type lamps, found the 5-stage timer
and the two, three-point zone indicators. Access is by the removing of the artwork
Brackets and accessing the lamps from the front.

PLAYFIELD DOWN LAMPS
There are 2 x 12V 20W 36Dgr-halogen lamps mounted in the top of the Ball
Cage. These are standard diachronic lamps and are accessed from front.

* CAUTION! *

Always replace the lamps with the same or equivalent size, wattage and voltage.

Page 33

To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200



Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

MAINTENANCE

CLEANING AND CHECK UP

m EXTERIOR

Regularly dust and clean the external cabinet areas as required, using a soft
water-damp cloth and mild soap. Check for blown bulbs and replace as required.

Any scratches or marks in the fiberglass or acrylic can be buffed out using car
polish or cut and polish.

* CAUTION! *
Do not use solvents on the panels as it may affect the artwork.

m INTERIOR
Regularly dust and vacuum the interior of the cabinet, taking care to remove any
objects that may have fallen on the PCBs. Check and tighten all fixing hardware
and fasteners as required.

4 )
* WARNING! *

Always turn OFF Mains power and unplugged the game, before cleaning the

interior of the machine.

Always after cleaning the cabinet interior, check all harness connectors and
restore all loose or interrupted connections.

- J

Regularly check that all the Display and Button Lamps are operating through the
Sounds, Lamps and Display Test. Replace any globes that are not operational.

Regularly check that all the balls are present and the ball gate is operational.

Page 34
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200




Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

SECTION B: TECHNICAL DETAILS

It is advised that anybody using SECTION B for
repairing or modifying any of the components of the
game should be a qualified technician, having at least
a basic knowledge of digital components, integrated
circuits and electricity.

Page 35
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200




Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

MAINS VOLTAGE ADJUSTMENT

B POWER SUPPLY
The Switch Mode Power Supply has a switch to set the mains voltage range. It is
located at the rear of the game cabinet, and is accessed via the back door. Use a
thin blade screwdriver to move the selector switch to the desired mains voltage
(See Diagram Below)

12vDC SWITCH MODE
POWER SUPPLY

VOLTAGE
SELECTOR
SWITCH

100-120

B TRANSFORMER CONNECTORS
Locate the machine transformer(s) in the base of the cabinet. If unsure of the
location of the transformer(s), refer to Parts location diagram of this manual.
Change the position of the ,,ACTIVE* or ,,HOT WIRE" input, (marked brown on
the diagram), to the position for the desired mains voltage. (See Diagram Below)
6 WAY CONNECTOR PINOUT

PIN FUNCTION 120VAC MAINS CONNECTOR
1 240VAC i 240VAC
2le
2 ZZOVAC BROWN 33
404
3 120VAC e [
GRN /YL o6
4 110VAC
EARTH
5 | OVAV (NEUTRAL)
6 EARTH
P2OVAC MAINS CONNECTOR PAOVAC MAINS CONNECTOR
1Tt 240VAC BROWN N 240VAC
BROWN BB BB
3|3 3|3
404 404
BLUE 55 BLUE 55
GRN /YL o6 GRN /YL o6
EARTH EARTH
Page 36

To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200




Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

TICKET DISPENSER REFERENCE GUIDE

“Quick Release”

Ticket Dispenser Manual

U.S. Patent 5833104
Additional Patents Pending

The “Quick Release” "
Ticket Dispenser

* Quick release face plate
* Bottorn metal ticket guide
» Foolproof braking system

* Optical sensor dust cover

Standard
Model DL-1275

<
é\ Cr s
(2

Se "o‘:.\'_ = Manufactured
& év{a oy with pride by
OT P Deltronic Labs

- ~ A

~ o Iin the USA

Another quality product from Deltronic Labs . . .
the industry leader in ticket dispensers.

LL Deltronic Labs, INC. 120 ucerty Lane, Chalfont, PA 18914

215-997-8616 = FAX# 215-997-9506 = Web Site: www.deltroniclabs.com

Page 37
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200



Operator's Manual — Slam'N'Jam Junior
© LAI GAMES

“Quick Release” Ticket Dispenser

Features Fomovatielop
metal ticket gui
BlIl Models

Locating
spring

Roller
tension
spring
Bottom metal
ticket guide
Validation rollers ’
emboss tickets
“Quick ]
Release” Optical
’ Face Plate sensor
w/dust
cover 0

Ticket
advance

Lo g = _ switch

Ticket stop
adjustment

Brake
bracket

De”ronic Labs, Inc_ 120 Libedy Lane, Chaifant, PA 18914 » 215997-8616 » FAXY 2150979504 « www.deltroniciobs.com

Page 38
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200



Operator's Manual —
© LAl GAMES

Slam'N'Jam Junior

Ticket Dispenser Assembly

Detalls of Plns
Fiw TGy, b Labs BN
| SEDRRTY u RELER SHAFT
12 | 1 | RAESFTMTAATY WOTORA FIVOT SHAFT
1911 | SPAC FIVBLKTTMHOL PHOT BRACKET S0
@] 1 | ANS
15| 3 | AWPADLTOVAS | DLERROLLER
16 | 1 | RN-FLADRYTONALD ORIVE ROLLEA
171 4| EPRG-TENSHITDY TERSION SFRAG
52 | TNERTAIG | TR —— |
18 | 1 | ENPANLFTITOTORN | WHE
V| PNVALERKTDr | BRANE WHEEL
@ | 1 | SPAGLOCATADY LDGATING SPRING
T 7 | ANBRTERTE | BNARETRAGET |
a2 N} AN-BRTTLS 1090 URETHARE BAAKE
2811 | PCEOZ75T0 ¢ _PGBONRD
&1 1 | ANMOTCRTRY MOTOR
@2 | PPLATFRTD TRWEPIAE |
@10 | BN 6 [ TPNFEMALECONN. |
|25 | 4 | BANGFIT2TUBAASS SUBHING
M |1 | BRCACIOTY | P BOWAD SPACER
W 11| SPAGHEXTO N HEX SPACER 114"
311 | AN IWTTRGV INFOTV
R |1 | SPACHERADAW STaND OFF
| S |1 | GIDSOTIOWTOMET | LONERGUDENET. |
T A | RNGE2SRTITTY AETAMNGHIRG |
11 | GIoTow
| & | 2| PULVGFRIZTENTLN # & | SPACER WASHER
%] 2 | 3PAGFRONTATD) SPANG FAONT-RATE
@ 4| FANCPEMNUTTOFAPL | PEARRITFRANE
W E | ANPENRUTTDVAPS | PEMRUT FRONY
W | | | COVARIATORORTO | OUST OOWER
4] 1 | CONNWOLEXTONPM | AWIREMOLEX WA
42 | 1 | FN-ABELTOMM. | CABEL ALUWRAIM
WaT | VAREEDBLYDMOYOR T
@2 | SPACEVRRKTOMEGY v o | SAACER 19 HEX
* Grder ty Modsd #

¥ Note: FIN 36 replaces 032 and 080 spaver wasners.
*EE ahotp: FIN 244 replases large specsr biocs,

Matotlal List for Scmvs
RN | Gty Part ‘
TN snum:mm A SR
2 13 | RMJMRTIVIM | 440X 19° WASHER HEAD]
3 |3 | NESRTIR | 440K 12" WASHER HEAD
T | 1 | AT | & |
§ | 1 | AMSFLTWIT) ¥ FLAT WASHER
§ | 5 | AM-EEFENTT) ¥ GPUT LOC. WASHER
E] TGN | PHLLIPS TRUGSHEAD |
B |7 | PMAESTAATE | OB INTSTAR WASHER |
B | 1 | SCRWEETTT SRR W
10| 1 | SORWEETTOBAVM | 530 X 12 557 SOREW |

Deltronic Labs, Inc.

Page 39

To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

120 Liberty Lane, Chaifont. PA 18214 » 215-967-8616 » FAXE 215-997-9504 » www.delroniclabs.com



WOY] O3 PABUBYD () oL w
WO 2% 43 pu 00 N2 v s padudau a9 LoD (A Secunl RS AN PT MASUSE 240U
WY 22 ‘Bra) anY0A U DALBAC) 85 VOO (B i d e o _._

3

8 e
__ QNCSA0 JO32a7100 wadn)

S
2
c
S
=
S
(]
>
<
S
S
"
I
©
5
c
©
=
»
[
L
©
—
@
o
O

© LAI GAMES

¥ SOLEINES WLONE'S A ‘JLaOMEuTIy AlB 843 e3ea3y 4T HOLON 130011
450 o 430
Age3 o WL oW
JO4 8N 3303003 ONUSU JNOA UM PPN 30U B 30NN SAL 3] BO30unBuuol Juaua i) .
332 0} JIVUIYDE LUDGCG |INY, SN0 DD MASIIY 'EADA SO LIQUAS B U PEUNSIJUOD tn«:au u..ﬂ.".zfm.n TIBYNI 30L0w
‘SUBUCCOD AsDeRacau g
I DACOILE 30 |98 30t Syl PUS UCEURA 3D Y SADUD SN PRasIp & . L
i-«gupﬁgaass«ay:va-Us:BcSvs.Mﬂ.nu._.ﬁ.w.ﬂ!lﬁ.v
$y7 3pop Busanen 4Q euy of PareNcD 8TS bR

P 833135 393 08 paBunys aq UTD NN BLL Daeep

it wsvne eyy Bumssud Ag ce SOUA LON 30 ‘ANONIOU DEBUSHEID 8UD B3ANDN JEASEUR

sat&?_i:uvgltiossuas!«.B.Cv.nozo!.u.l_!k.n

‘PIO0G AUy VD PaLasu A|TAG30 JaAu auan Aagy ‘sa0semaly

SBPUL BACUR SLTUIUDE £ ASY Sl TNIDEIIOE BRG WOUS DELIID BJan 2N PV ‘ST DTN 8403 0may 2

W AN UOHIALL #ADIASLD Y U3 W
‘Pesn 8q LN-1 % v 3L BDUAMODRY |iIye
o SR T gt I8 S5 g SRS v st Sene: S
x pET PV
WomASS BIYS 404 peBuoyd 0 .inoﬂf;gzgzo;o.!auolazr

2
8
3

S310N

.
24D 9POP PUT gy oymeay | Y

== MNIS 1 - HOLON 13X01L
-1
== A = 330 3IEYNI 30104
-1
= A = NO 3W8YN3 010K
= ABONVLS) I

“moe BUoRdo savcl ev e3axy Avou 3o Asuadep 1w 3
340 3 Uy 03 JASUAdEID 301 AUy WOy 1o GDI0U UJNge
© BUaNCW PUD 1ouBa YBiy DB0) U yiw Jasuade sy uo Buany
auoB 3y "3J0M 408 a0l By AQ PAOIIVED B SaoLadER By

3nd3no Jazaw AZL Yiim g/21-0
8 "A3y pP400g 1043 u0)

120 Livzrty Lane, Chaifont, PA 18914 « 215667-6516 « FAXE 2159975504 » www deltironiciabs.com

Delfronic Labs, Inc.

Page 40
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200



Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

Control Board
Models DL-4-S-S DL-4-P-S

v

ii 1. A, 74C14

* 2. 03,07 & 08 are
INSCO1, othars are
INSBTA or 914

=
v — ]

16 hcs,ueten

L)
IMILLE OR Imeac

5

o nIxey
DiSA wotce

ez

f e, Y

T 22
{onwe)

10 WM 0R LO0BIT LEVEC

HiLads ADeANCE BW l

1o SwR Susriy
et

Model #DL-4-S-S, SW Input

Model #DL-4-P-S, Logic Input.
Note: With logic input components and dotted
lines are omitted and Z1 is jumpered to Z2.

Note: Enable pulse may be positive or negative
170 50 Ms. by having jumper on TM-4 in proper place,
—, ‘] TM-4 BOARD
IGIC INPUT +i2v 5
l l o w @
ENABLE — %D, z o ¥
| :_.l - ;
|} - .
wep ""’"'_r >0 us -—,_*’” g 5 f Note: On PCB TM-4,
1 F GND, &g o Rev. 1 & 2, Q1 and Q2
1 e - transistors are
| I I D40K1or equivalent.
12V g s
_}— 2 500 MS, -| = z
MOTOR ON : GND- 3
1 = B
' e
CK. NOTCH +i2w
| I J
I
|

TO PWR. SuppLY

|
COUNTER u + 2w
6ND.

2 180 ns.—-l —-J Model #DL-4-S-S
Model #DL-4-P-S

Deltronic Labs, INC. 2 uvedyiane. Chatont, PA 18912 « 2159978616 + £AX# 215-997-9506 » wiw deffroniciabs.com

Page 41
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200



S
9
c
S
)
S
@©
>
<
S
S
w
I
©
>
c
©
=
%)
[
L
©
—
@
o
O

© LAl GAMES

3D EXPLODE PARTS

L AP PNS d404 INOY4 H43XOILS £96Z1V -
T1'¥L| U0 NS ¥04 1/8 S 3AIS ¥3IMOILS 79621V -
1YL AP PNS HO4 /4 0907 3a1S ¥3INDILS 19621V -
13s 1 L3S NI UM AVE N AVIS HH0M  1dv 08621V -

L d30V3H OMT1I¥0V 43X0ILS L9621V -

L H3QY3H OMI¥OV| 04—20—d4—Nr PNS X4

L 3NV 830V3H| 0¥—/LT—M4—NI NS 4
L' 13X0VHE ¥3QVIH| 0d—+¥—WA—NI" NS 6l

L 1HOIT d0L ¥3A0D| Ld—C¥—WAi—NI NS 2L

L ASSY HS3W dOL| 1d—/LZ—VS—NI NS Ll

< MOZ AZL 1HOM NMOQd 6020V3 \7 M

z T3AIMS LHOIT NMOd H43AT0H dAVT Z1e0v3 \7 =
135 ¢ ATEAISSY LHOIT NMOG| NP FNS 100OVH ol

< ¥3AN0D dAV1 dOL| L3—GE—W4—NI NS Gl

L 13X5v8 ONIY 900V NI NS vl

L ASSY HS3W INOH4| 04—BZ—-VS—NI NS £l
135 | ATGN3SSY 3LvOTTvE 0% 10V NI NS 1

L P NS ¥04 INOd € J1TAYOV ¥3MJUS 59621V -

L SS3ANYVYH AV1dSIa ¥00H NI NS -

L AVIdSId OIMTIYOV | O04—€0—dd4—NI NS El

L ¥3N0D JWVTD JITTIHOV | O¥—8L—N4—NI NS arl

L 13NV AVIdSIO| 04—CZ—MA—NP PNS QL 2

] Nid dWI¥D 00€Z gM d30T0H dAvl 9220ov3 \7 = e

8 MZL~8 AZL 906 3D 3003M dAV1 2220v3 \7 < w

< d3LN0 LHOM 13XMIV¥8 | 08—C0-W4—Nr PNS all =

Sl Nid dWI¥D 00¢C am H3070H dAVT 9¢¢ov3 \7 El

Si MZL~8 AZL 906 39 3903M dJAV] 2ceov3 \7 =

I ASSY INQIN LHOM 13X0vH8 |08—VI0—W4—NI' NS M1
13s 1 ATBN3SSY AVIdSIO £00Y NI PNS L

L 37ONV3 X001 ¥00ONH| 301 -

L 31¥1d NIOQ| Ld—0L—N4=NI" PNS| Q0L W

L |3TONIS ASSY ¥30T0H WSINVHOIN NIOD 7100VH| DL 1 HA

< J00Q NIOD 3IONIH| 04—0E—WI—NI 'NS| 801 M

L Y3INJILS HLM 00T XOB HSYO| O4—£0—M4—NM MNS| VO L
135 | ATBNISSY d00d NIOOD LOOV Nf NS 0l

L H00d INO¥4 370IN 3IONIH | 04—68—W4—=NI NS m_moi =

! 319NV3 %001 v000AH| veo] =

L H3IMOILS HIIM ¥00d INO¥4 I1dIN | O4—CL—MA—NI PNS 60

L ~J000 L3XOIL JONIH | 04—6Z—W4—NI "NS| 3B0 -

L 31v1d L3XOIL| Q¥—%S€—N4—NI PNS| d80 W

| 379NV3 X001 ¥000WH | 080 HA

L AJOYLINI ¥3SN3JSIQ 13MDIL 20l 1v3| 880 M

L Y3IMOILS HLIM H00J L3XOIL| 04—8Z—M4—NI INS| V80
13S | ATBN3SSY ¥00Q 13MOIL C00V NP NS 80

L 3LV1d MO | 04—¥O—W4=NI NS L0
135 1 ATGNISSY A1ddNS ¥3IMod 700V NI NS 90

! JF PNS 804 LNO¥S ¥3HOILS c962Lv -
13S | AT8W3SSY INOd4 13NI8VO LOVY NI NS S0
YL ASSY HS3W 3AIS| 04—Z%—VYS—NI PNS 70

3 Qdv0g Mov8 ¥3MOILS ¥96CLY -

L Qyv0g XOvE 213V | 04—10—d4—NI" NS <0

| SS3INYVYH 1INV MOvg COOH NI NS \7

I JOSN3S DI1¥10373 010Hd 2S¢ 1v3 \7

L 3NV MOVE | 04—Z20—M4—Nl NS 0

L v INIWO3IS £ LI91d ¢ 0oSvVB4 HOd 1091vd m_foi M

L ATINO WIIN X008 AVISIO | 0d—CL—W4—NI" 'NS <f07 =
113s 1 AT8NISSY X08 AV1dSIO £00V NI NS Lo
ALO NOILdI43S30d ‘ON 1dvd "ON

Page 42

7200

.com | (800) 746-2255 | +1.561.391

igaming

To Purchase This Item, Visit BMI Gaming | www.bm



S
Q2
c
S
>
S
@
>
<
S
iy
w
I
®©
S
c
©
=
»
[
S
©
—
o)
Q
)

© LAl GAMES

13s 1 13S NI 4Ur AYE N AYTS ME0M LoV 096¢1v -
L NOLLNG VOIW a3d 394V HOLIMS £¢S0ov3a 7l
14 MOV U8 ¥ d3MV3IdS 10T 1Lv3 el
L XN Nid ¢ OL 031 43010W av3T J3IMOd 6£90V3 -
L Ny Nid ¢ OL 2031 Q3070W av31 43M0od 9¢90v3 -
L |OONI Nid ¢ OL 03I d3Q70W av31 ¥3mod £$90vV3 -
L VSN Nid € 01 031 03070N av3l d3mod SE90v3 -
I¥NOILdO M
| SSINYVH x0d dd LOOH NP PNS - M
L N ¥31714 1IN 3SION 3dAL Od 6¥90v3| dcCl 2
L 30 04 ¥31714 IN3 3400 1INdS 8G¢Lvd| O¢lL
L 1S0d ONIONIg 9G¢Lv3d| 8¢l
L X08 80 VL3N L000VH| VZL
13s 1 A1dN3SSY Xod 84 G003 NI NS 13
L SS3INYVH 13NV JOINA3S 900H NI NS - -
Z 13X0vH8 dV3Y AZL ¥3INNOD NIOD ZSCIv3 atl M
L NOLLNE N3I3YO ANNOY TIVAS HOLIMS 0¢S0ov3 oLl =
L NOLLNE d34 ANNOY TIVAS HOLIMS 6150V3 gLl g
L 1340vd8 30IAY3S| 14— LE—W4—=NI NS Vil
13s | ATBA3SSY 13NVd 30IAY3S 1003 NI NS Ll
6 S3AANO INIHOVAL ¥38any Z000VH 0l
L X08 HSYO ONISNOH| 04—GL-W4—NI PNS m_mo* M
L X08 HSVYD|0d4—v60—N4—NI PNS <004 =
13S | ATGNISSY X08 HSVO €O0H NI PNS 60
- 13X0VHE 04vdLl| O04—9€—W4—NI PNS 280 _
L VGIXG LIXZ/dvL 1IN H3NYOISNVYL 2280v3 880 M
L dwyg'zL AZL-0GL—S A1ddNS ¥3MOd glolv3 80
13s 1 ATGN3SSY A1ddNS ¥3MOd 700V NI NS 80
L SSINIVH NIV GOOH NI NS - X
L NS Y3T10INOD NOW 0884 834 0gg4v8| 0/0 4
L ANNOS 087 ZYAN 9l 0¢GH4 80d J¢s84ve 8.0 M
L ‘MdWy OIaNY 03431S 6284 g0d 6¢00ve VL0 =
L d4v08 80d| 04—+ L—M4—NI NS L0
i4 IV1 0907 HLIM £°0ON T1vE8 13XSvE SO9LWH 90
ILYL TUHD HINVIAS| LY—ZE—W4—NI NS SO
| NOILOMYLSNI AV1d OITAMOV d3IMOILS 99621V
L OMUHOV Q1314ATd | 0d4—+¥0—d4—NI" NS %0
L H3IAIMA OV T1INNVHO 8 6v84 80d 2091v8 [1)
L Y3AT0H LIADIL| O4—C¥—W4—NI NS 20
L SSINYVH 31vD T1vE 800H NI NS
L Q7314AVId MOvE| 0d—SO0—MJ—Nr NS 310
L M3018 3LvO| 04—9C—W4—NI PNS| 9010
L ASSY dv14 31vD 11vE| 04-61—-VS—NI NS|SAL0 2
L WNdd 91 A ZL 00 0008 HOLOW 8slLiv3|valo| & T
L 31vS T1vE d388Nd LEO0ONH| £010 M i
L 4388NY V10| 0¥—2zZ—Wa—Nr rNs|zalo] = &
L ASSY 1IMOVHE 31vO TIVE| O04—CL—VS—NI PNS| 1d10 2
13S WSINVHOIW ASSY 31vO T11vE Ay 1OV NI NS ailo
L 3LvO T1Iv8 H3A00 IONIH| 08—Z¥—W4=NI NS 010
| 13NIBYD MOvE 1INV ¥3ddN| 04—9L-M4—NP PNS q10
L 43ddN OITIH0V dAVIO| L8—0Z—W4—NI" NS V10
3s 1 ATGN3SSY 3LvO T1vE 0% 1OV NI PNS 10
ALO NOILdI40S3d ‘ON 1dvd ‘ON

Page 43
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200



8 [ A 9 [ S 2 € 2 1
<3Ivd> 31¥d | 200Z/01/60 31va IvDS LON 04 sawog |y
<IAVN> A8 GIHD | AoV M A8 NMVEQ Jo UoIssILIed usyLM Jouid Jnouy
Ui, Y801G00 Jolunp WOR,N,WoIS JAYN F11d I yod Uy Jo Ajoym paidos Jo pasnpoidal
59 jouuds pus  sewod N1 Jo
BULIM 18U1G00 JOIUNT WIDF N,WOIS  JLIL . . | fpatoid By & Lbisap mwix(w w,.?
YNP WVP N, AVIS 1031r08d | | [—————————1 9 ”
I
. TN sewpd v I 4 f N ) S D mog wuog | 94 “To =
| f HA/GE o] 3199 SaPAVILS EERCTE)
| — | - er
| | s e — T _many g NDgary
{ 2|2
|
I T AoTEA L ATTEE STAzIF | |
,F ASSY ¥O0LOW 3199 L, NN | |
1 ” orany | |
\\\\\\\\\ o
SIHBIT INIOd € SIHDTT d3INTL SIHBIT INIOd € I
| o
e TRl It ! S 7 IS
— - [ I I I I , = o0V o — N
s N ya N S er
y o i i | N £
-_— / L i i | — r T . B ’
/ , I I I/ Vo , [ i K nn ] >
3 , / \ | | f T35 Y AETEA AT o] aAllr
| I I K | J00Q | uwow A BT ST [ ouAer
\ /] I I I\ /o T | e I e i PSRN o IO
— \ v@ J | Il I [\ v@x Jo BT s | L e oY — [N S0
o h 7 I I | 7 SV =S| d01OW AL
N - v@ @A v@A N - 7 L e et N3 L RS T 3196
= N [l N = JTAZI+ BIe—mo=— EIE) er
c _ | [ Il Il | - AT S g | NS5 {555 1S [IN100 NID)
0 Dy —be_—pbd | | E | [l l——m LR o et e
5 ! ! SovE L GNAeD | osIND ] Uy e TISTE
Law) = = =i B EN = T04INDD INNT0A o T30S o] T1aIHs, B
ER- z & 5 TE | | g U5 - 1[SN3S_T1va
m m m m I 8 NEIIEE] | v | SaeTE v
| 7 Nan13y WW\E.\ -
G | H 7 {5 maniss > | . Joas e e demw: ®
|
— - o)« B EGTY U o | 3 [EE] 5 S e TS e
<z SIEE EREEEE <z | SLIPA 1 NNSS | 2ol TS 12 =
= S ZEE SRR EAN € 5[S 5 ]
= a E SEE BEERE B I IR | ae Lo | [RERR = e . o
2 Sle ~ 7 EIGLY | [CELN A LA e )
- i RERNEE] A [ | elel =1 EIEREEST w
N = SLAA NOLLNG STE/NgD £ ESTE/NED 35T
m %)) » o T D N SR I e INTq TWINTe S v o S El ] e TshvieEd oSt - B
W o nf— | od A | NOLLNg 171 — ===y HI1 aov el
a I — | ol<le |alklelale 0| | ST & I7 S JIINAY3S 1S3L [RERE IS3r Em SeERGET g
M LB BPE BB LRIB Z|> J9/HA mhm rF—-—- = — — — — — a0V
—_— = 0 REE EEEZP =3 /]2 471 INOd € 2
=2 BIES (RERIZ 3 SR e 1
m< e B0 PR "~ T7ds |21 LHolT 3d0a | RIS L AR !
S| ¥ a1 83Nl 8l6
I o = \ , BIAZA [ S0 S | SLHOIT [efe]
- ! /A g TS < Elalali SOV (SISl SavE S s 1] BRIAO D)
— < STE /AR L2 e o 21 3
2 cc
© J ASSY XOd 17vd 7 soen (212 T , Skl N T
7/ == L
m © R \‘\\‘\\‘\\‘\\‘\\‘\\‘\\‘\\‘\\J ” Lno ov | TMS NIOD v]m\zmowwv]m\zmu —Twvs 2 Lavis  S¢
] —Te e 1S3L
E ey LA REL/ ] I ¥00a NIOOD soE UL 1531
e[ NIg ovAel FOLON | HOLON AL
! JLTHA vv \\\\\\\\\\\\\\\\\\ ———=c1€| 301Ad3S
M 2 ! | ERR 29N NEEN NIOD
o F——————= A )y — 7 —S VA2t | 7Iob\</m 19v1S | »ov18 NIDD
n , , T[] TvE EllCR :ﬁﬂ SLIHA | N , W
e | ¥OSN3S 1vd 7|f I BIVEN - EETGE) | | | Lavis s
I [SAdidd)
(@) L — = J IEE STASTT lolel wmun | | | Mot S h
® | R , , dWY1 THVIS e A i
(%]
H ——_—_—_——— = — — — NADSE (14 Nga/Am
SN LR w e N Lol : a:
I I T | BRI XvE0 |22 80 /A =
[oX | —_—— — viva]ry TSR |2 BIA/HA, BN =L = — o o] _annen
O , _ _ _ _ _ _ SCTACIASL JTA2T+ ! N80 == N187HA = - VI | L oY EETA 1
| 2 | ESIEEN S VALY | v (OO ov v _anoe e
— o o x - -
A | AVIdSIO LIDIO € .¥ N0 | gmaarane a3 T87Rm e e S e ele e ROk oA
\\\\\\\\\\\\\\\\\\ I . L—exAO0TTIR AR AOTTEA o 20Aeke
| vSED TNI[g|— o2t SOV EREAL] A IS
g | | 170A2T Ny m‘w“wﬁm AOTTIL M M AT SRRENS
- - !
7z ‘ ! ! g RO —ArTT ,
— / TA/NED cle L
¥ LHOIT 340y 1708 S Eie] | sannd E i by M- e EIE e I
- YA T/NEs ST /NeEs | JAOWHILIMS L EN] s
v ] L JATRRETY ATTTIA )
IeTleTl ete - ]
5750790 [SEY ELE—=swwam
-Ho a/TA/aT 122l ELIEL s YN T = r
r 77708780 | L e =S T
| 1HDITLOdS HA/80/34d feTel feTel EISCIN T/NES i zmoi
N3209H g8l slgl mn | == AN T 1w il i - e g e
, om0z AL CICE B8 T8 _ o oo ©qQ J,
| U NAOEE ww ww THA Y T S22 Y9 ZH09/0S A0S2
o B
I LHOITLOdS _ NNOSO e reTel e ) = X08 €0 SNIgW |
E oA [2lS] (SIS —mgTax 7 |
v | N3909H E ——m 1 v[v TS wel o214 =4 K= w7 - R O 4 I 4 L 4 I I
| I dOL e Dl e 1 T T v
IETE)! IEIE) i /Al
L —osmow 12E v asay EEIRED] m M ovore Jll e
TvE L L TVE 3ONVA0 . | [ TA/NSO] T
dWYS
ASSY qyY09Y09d | | S3sSN4d A1g/07S
I I
8 [ A [ 9 [ S [ 2 € 2 1

7200

.com | (800) 746-2255 | +1.561.391

igaming

1L uev

To Purchase This Item, Visit BMI Gaming | www.bm




Operator's Manual — Slam'N'Jam Junior
© LAl GAMES

DISCLAIMER

OPERATOR WILL TAKE NOTE.

BY ACCEPTING DELIVERY OF AND PLACING THIS HARDWARE AND
LICENSED SOFTWARE INTO OPERATION, OPERATOR REPRESENTS AND
WARRANTS THAT IT WILL ONLY OPERATE THE HARDWARE AND
LICENSED SOFTWARE PROVIDED BY LAI GAMES IN COMPLIANCE WITH
THE REGULATORY REQUIREMENTS OF THE COUNTRY, STATE, AND/OR
MUNICIPALITY IN WHICH THE HARDWARE AND LICENSED SOFTWARE
ARE USED AND/OR OPERATED. LAI GAMES HAS PROVIDED THIS
HARDWARE AND LICENSED THE SOFTWARE ONLY FOR LEGITIMATE
AND LEGAL USE, AND ANY USE OF THE HARDWARE AND LICENSED
SOFTWARE IN A MANNER THAT VIOLATES ANY LAWS OF THE
COUNTRY, STATE, AND/OR MUNICIPALITY IN WHICH THE HARDWARE
AND LICENSED SOFTWARE ARE USED AND/OR OPERATED IS WHOLLY
UNAUTHORIZED AND SHALL BE AT OPERATOR"S SOLE AND COMPLETE
RISK.

Operator assumes any and all risk and liability for any civil or criminal legal claims or
causes of action arising from the unauthorized use and/or operation of the provided
hardware and licensed software, such improper and unauthorized use specifically
including, but not limited to:

(a) Operating or allowing the operation of the hardware and licensed software
in a manner that violates the laws and regulations of the country, state,
and/or municipality in which the hardware and licensed software are used
or operated;

(b) Assembling or causing the assembly of the hardware in a manner not
authorized by or disclosed in this manual,

(c) Any tampering with, changes to, or modifications of the licensed software
that occur after the software leaves LAl GAMES* factory that is not made
by authorized LAI GAMES personnel and that is directly or indirectly
caused by Operator; and

(d) Any tampering with the computer chip/electronic programmable read only
memory (EPROM) by or on behalf of Operator that directly or indirectly
causes the tamper-indicating holographic seal on the computer
chip/EPROM to be broken or damaged in any way.

LAI GAMES shall have no liability related to such improper and unauthorized use
and/or operation of the hardware and licensed software, and Operator shall indemnify,
defend, and hold LAI GAMES harmless for any claim or cause of action brought
against LAl GAMES arising from Operator®s or Operator®s representative®’s improper
and unauthorized use and/or operation of the hardware and licensed software.

ANY IMPROPER AND UNAUTHORIZED USE SHALL COMPLETELY AND
TOTALLY VOID ANY AND ALL WARRANTIES, BOTH EXPRESS AND
IMPLIED, OF THE HARDWARE AND LICENSED SOFTWARE PROVIDED BY
LAI GAMES.

Page 45
To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200



WARRANTY

LAl GAMES warrants its manufactured products for a period of 3 months inclusive of
parts and labor from the date of sale.

LAl GAMES exclusive obligation is to repair any item with any defects as a result of
faulty workmanship or materials, providing the defective item or items of equipment
are returned to the LA/ GAMES distributor from which the machine was purchased.

LAl GAMES shall have no obligation to make repairs necessitated by negligence or
interference to any component by any unauthorized personal. This will automatically
void any existing warranty.

IF MAKING A WARRANTY CLAIM:

(a) A Copy of the sales invoice must accompany the claim.

(b) To and from Transport and freight costs are not covered by the
warranty.

(c) Warranty is not transferable with the sale of a machine from one
owner to another.

To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200



mailto:sales@laigames.com
http://www.laigames.com/
David
Text Box




